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7]1%9] AYol7F 901.18cm? & w], Y7]59] o]

|

U] Yol)=7x 7 x 3.14 = 153.86( cm?)
Ao Yol)=7x2x3.14x[ |=43.96x] |
Zylo]) = 153.86 x 2 + 43.96 x|_| = 901.18

[ ]=(901.18 - 307.72) + 43.96
= 593.46 + 43.96 = 13.5( cm)
wretA] 97159 =olE 13.5cm YT




@® @
lcm 2cm
\
\ \
5cm 3cm
/‘

@ 4 @ = 4
cm cm

N
3.5cm 4/cm

D 1x1x3.14x5 = 15.7(cm?)
@ 2x2x3.14x3 = 37.68(cm?)
@ 2x2x3.14x 3.5 = 43.96(cm?®)
@ 2x2x3.14 x4 =50.24(cm?)
® 3x3x3.14x2=56.52(cm?)
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(A2 AA):(FIE F)=5:05=50:5=10:1
"adt HE] F& [ Jt 5w
10:1=20:[_]

10x[_]=20

[ ]=20=+10
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olulue} opl A o] BRAL Bl 3.5 49T DAle] BF7
of v Kirh 12kg | AU ofe 7o) B2} 84 kgolah, @
o] BRAE B kg7

@ 40kg @ 60kg @ 46kg @48kg ® 50kg

2

~&B

3.5:4.9E 7MY F2 AA59] H| 2 YErHE,
3.5:4.9 = (3.5x10) : (4.9x 10) = 35 : 49
35:49=(35+7): (49+7)=5:7

5:7:\:|:84,

D:84><5+7,

[ ]=60

mebA, ofmiL o] B R A 60 kgol v, A e] BFAE 60-12 =
48 kg J Ut




